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gwb=le_cs(2,2):

gwb=le cs(gwb,1,1,(12.8),(16.7 1],1):
gwb=le_cs(gwb,1,2,(-18.9],{21 11,3):
gwb=le cs(gwb,2,1,(6.6],(10.9 1],7);
gwb=le cs(gwh,2,2,(-19.4),(14.4 1],3):

t=0:.5:50;
(a,b,c,d)=le cs(gwb,5):
ypade=step(a,b,c,d,1,1):

% Pade approximation

yift=le_step(gwb,1,t): % FFT method

plot(t.ypade.”-" t,yfft, —")

6.2. e Al=Rlo mA}

Thesl AR lo] Qs ThASE 3] AlojAl el mA}

E sisivh

d

—p| gd(s)
r y
(OB gc(s)  H{ gwb(s)

1

J

ICASE MAGAZINE, Vol. 10, No. 2, March, 2004 51



R |

[12.8exp(—s) —18.9exp(-3s) 7 A=
S g 19) 194enp(30
Iy NDARE e A28l g 13 BB PEE A
o370+ 0 PSR, o) AR FHG} TRADGE Ao} 28 AT
. + ] == b
gels) = RATET® | gk g dEh e R4S §¢ A% A Sl mi¢-
0 —-0.075(1 + e ) He]abA AFE-E = Y9S Aot}
L .05
[ 3.8exp(—8s)
=| 149s+1
84()=| 4 9 exp(~3s) 4058l
13.2s+1

1. J.T. lee and T. F. Edgar, “Subspace Identification
Method for Simulation of Large Dimensional
Closed Loop Systems with Time Delays,” AIChE

sl qe] Wslo] g AT S5 1o Asle] 9l) Azl
2 vt 2ol W

d - y J., vol. 48, pp. 417-420, 2002.
— 2 > I 2 J.T leeand T. F. Edgar, “Simulations of Stable
y Non—conventional and Large Dimensional Linear
gwb(s) fd— gc(s)

Processes Using the FFT Method.” Computers and
Chemical Engineering, in press, 2004.

o] Alz~gle Tt o] i BAF Hojzio

gwb=le cs(2,2); % wb process B2 (MATLAB =2:1%)
gwb=le cs(gwb.1,1,(12.8),(16.7 1],1):

gwb=le_cs(gwb.1.2,(-18.9].(21 1],3) function (sa,sb,sc,sd)=le_cs(sl.s2,53,54,55.56)

gwb=le_cs(gwb.2,1,06.6),(10.9 1},7): 9%
gwb=le cs(gwb,2,2,(-19.4),(14.4 1).,3): % s=le_cslab.c.d)
%  generate a system matrix of (a,b,c.d).
gc=le_cs(2,2): % controller % (ab.cdl=lecslsl)
ge=le cslge,1,1,00.375 0.375/8.29),(1 0],0): % [ab.c.d)=le cslsl.npade)
gc=le eslge,2,2,(-0.075 -0.075/23.6).(1 0).0); % lab.c.d) with Pade approximation of time delays.
%  npade is the Pade approximation order.
gd=le cs(2,1): % disturbance % s=le.cslK)
gd=le_cs(gd.1,1, 3.8, (14.9 1), 8): % aconstant matrix.

gd=le cs(gd, 2,1, 4.9, [13.2 1], 3):

rxry . % s=le cs(m,})
gl=le csleye(2)): g2=le_cs(gc,gwb, ™) s7lessim!

3=] (a1 6210 gd=1 (ed g3 %) % initiallize a (mx I} transfer function matrix.
= Dol = 5 :
go~lecsigl.ge. n Jr gATIC C3180.80, % s=le cs(sl,ij,num den,theta)

%  add/replace the (i,j) element in sl.

S

t=0:1:200; y=le step(g4,1,t): plott.y.~")

®

(num,den,theta] =le_cs(s1.1j)
extract the (i,j) element in s1.

S

?® X

s=le cs(num,den,th)

R

s=le_cs(s1,ij)

R

SISO system of (num,den.th) or {i,j) subsystem of s1.

R X

05 s=le_csls1)

X

% s11s a series of string for the transfer function matrix

°
R

% in the Laplace variable s.
ex: sl="diag((exp(-s)/(s+1), exp(-2s)/(2s+1}])’

2

R

05
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% s=le_cs(sl,s2,0p)

% op=='t" s=slts2 (paralle] connection)
% - s=sl-g2 (parallel subtraction)

% " g=sl (series connection)

% " s=inv(l+s1*s2)*s1 (negative feedback)

% o' s=inv(I-s1's2)s] (positive feedback)

%

% state space model
% s=le_cs(a,b,c.d)
if nargin==
n=length{s1): (1. m]=size(s4):
(q1,q2) =size(s1); if q1~=q2, error{'A is not square’): end
(a3.04)=
(o5,06)=size(s 1f 96~=ql. error( Dimension mismatch in C'): end
(a7.8)=
if gd~=q8 | q5~:q7, error('Dimension mismatch in D): end
a=(-inf,1,n,m));

(sl
size(s2): if q3~=ql, error( Dimension mismatch in B'); end
(s3)

size(sd

if n==0,
for k1=1:1, sa=(sa, s4(k1.:)): end

else
for k1=1:n, sa=(sa. si(kl,:}): end
for k1=1'n, sa=(sa, s2(k1,:)}: end
for kt=1:1, sa=(sa, s3(k1,:)); end
for k1=1:1, sa=(sa, s4(k1.:)]: end

end

return

end

% (ab.c.d)=le cslsl)

% [a,b.c,d]=le_cs(s1,npade)

if nargout==4
if nargin==1, s2=1. end
(sa,sh,sc,sd) =le s2ss(s1,s2);
return

end

% transfer function model
% s=le cs(m,)
if nargin==2, sa={-inf.2,s1,s2): return, end
% s=le_cs(s1,1,j,num,den, theta)
if nargin==
if tength(find(s1==-inf)))1, error('not a system matrix’), end
ifs1(2)~=2, error(‘not a transfer function matrix’), end
sa=sl:
$23=s21j"s3;
bp=(5, find{real(sl)=
if ~isempty(ne), sa(bp(ne}:bp(ne+1)-1)=(): end
if length(s5)) =length(sd},
a=(sa, $23.(zeros(1 length(sh)-length(s4)) s4] +j's5, inf +js6):
else
sa=[sa, 523 s4+(zeros(1 length{s4)-length(s5)) j"s5). inf+)"s6):
end

if nargout==

=inf)+1): ne=find(s1(bp(1:length(bp)-1)) = =523):

return
end
% (num,den,theta) =le_cs(s1,ij)
if nargout==3,

if length(find(s1 ==-inf))}1, error('not a system matrix'), end
if s1(2) ~=2, ervr{'not a transfer function matrix’), end
$23=52j"s3;
bp=(5, find(real(sl)=
if isempty(ne)
sa=(): sb=0): sc=0);
else
s=s1(bp(ne) +1:bp(ne+1)-1): ns=length(s):
sa=real(s(1:ns-1)): sb=imag(s(1:ns-1)): sc=imag(s(ns));
while sa(1)==0, sa(1)=(); end
while sb{1)==0, sb{1}=0}; end
end

=inf)+1); ne=find(s1(bp(1:length(bp)-1)) ==3523):

return

end

1 & nargin==1,
if ischar(s1), sa=
else % constant system
(1 m)=size(s1); sa=(-inf,1,0.m,1);
for k1=1:1, sa=[sa, s1(k1.:)]: end
end

(-inf.3,double(s1)): return, % string or constant mattix

return

end

if nargin==

if ischar(s3), sa=(s1,s2,-inf,double(s3)}; % system operation

(nl,ml)=size(le s2fr(sl,1.e6)):

(n2,m2)=size(le s2fr(s2,1.e6));
ifsd=="+"|s3=="-"

if n1~=n2 | ml~=m2, error('dimension mismatch”), end

% checking error

elseif s3==""'
if m2~=nl, error('dimension mismateh’), end
dseif s3=="n" | s3=="p,
if m2~=n1 | n2~=ml, error('dimension mismatch’), end
end
else % SISO system
if isempty(find(s1 ==-inf)),
sa=(-inf.2.1.1. 14j}
if length(s2))=length(s1),
sa=(sa, (zeros(1 length(s2)Jength(s1)),s1)45%s2, inf+j*s3}:

% transfer function system

else
sa=[sa, s]+(zeros(1.}ength(s1)-length(s2)) ’s2), inf+j"s3):
end
else % {1]) subsystem

(m,])=size(le s2fr(s],1.e-6)}:
ei=zeros(1,m)" ei(s2)=1: sa=(s1,(-inf,1,0,m,1 &i),-inf double("*")}:
g=zeros(1.1): ¢j(s3)=1: sa={[-inf,1,0,1,],¢j),sa,-inf double("*"}):

end

_/
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e

end
return
end

9,
0

funetion (sa,sb,sc,sd)=le s2ss(sl,npade)
%
% (a,b.c.d) : state space matrices for the system s1.
% npade is the Pade approximation order of time delay.
%
st=(]:
bp=[find(s1==-inf}, length(s1)+1):
for ki=1:length(bp)-1
ipl=bp(k1}: ip2=bp(k1+1)}-1:
sp=sl(ipl:ip2):

if sp(2)==1,

n=sp(3): m=sp(4): 1=sp(b):

a=zeros(n.n}: b=zeros(n.m): c=zeros(l.n}: d=zeros(l,m):

ik1=6:

if n==0,
a={Ji b= ¢=(]:
for k2=1:1, k2=ik1+m-1: d(k2,:)=sp(ik1:ik2); k1=ik2+1: end

else
for k2=1:n, ik2=ik1+n-1: a(k2,)=sp(ikl:ik2): k1=ik2+1; end
for k2=1:n, ik2=1kl+m1: b(k2,:)=sp(ik1:ik2): ik1=1k2+1: end
for k2=1:1, ik2=ikl+n-1. c(k2,:)=sp(ikl:ik2}: ik1=ik2+1: end
for k2=1:1, ik2=ikl +m-1: d(k2,:)=sp(ik1:ik2): ik1=ik2+1: end

end

st=le pushs(st.a,b.c,d):

elseif sp{2)==2,

m=sp{3}: I=sp(4): sa=zeros(m,]):

bpl=(5, find(real(sp)==inf)+1):

a=(): b=0: c=(): d=zeros(m ]}: na=0: nb=0; nc=0: nd=0:

for k2=1length(bp1)-1.
sh=sp(bp1(k2):bpl(k2+1)-1):
nsb=length(sh}: ni=real(sb(1)): nj=imag(sh(:}):

num=real(sb(2:nsh-1)); den=imag(sb(2:nsb-1)): theta=imag(sh(nsb)).

{al.bl.cl.d1)=tf2ss(num.den}:

if theta)0,
(a2,b2,¢2.d2) =pade(theta.npade}:
(al,bl.c1.d1)=series(al bl c1.d1,a2.b2.¢2,d2);

end

nl=lengthfal}; na=length(a);

if n1)0
a=(a zeros(na.nl):zeros(nl.na) al);
bh2=zeros(n1.1)> b2(:,nj}=b1: b=[b:b2):
2=zeros(m,nl): c2(ni,})=¢l: c=(c ¢2):

end

dfni,nj)=d1:

end
st=le_pushs(st,a.b.c.d);
elseif sp(2)==3,
error('cannot be converted to the state space model’)

end

if sp(2)10, (a2.b2,¢2,d2,st)=le_pops(st): [albl.c1,d1,st)=le pops(st): end
if char(sp(2))=="+',

(a,b,c.d)=parallel(al,bl,cl,dl.a2,b2,c2,d2): st=le pushs(st,a,b.c,d):
elseif char(sp(2))=="-",

{ab,c.d) =parallel(al bl,cl,d1,a2,b2,-¢2.-d2): st=le pushs(st.ab,c,d):
elseif char(sp(2))=="*'

(a,b,c,d)=series(al bl c1.d1,a2,52,¢2,d2): st=le_pushs(st.ab.c,d):
elseif char(sp(2))=="n’,

(a,b.c.d)=feedback(al bl,c1.d1,a2b2.¢2,d2,-1): st=le pushs(st.ab,c.d):
elseif char(sp(2))=="p,

(a,b.c,d)=feedback(al bl c1,d1,a2,52,¢2,d2.1): st=le_pushs(st,a,b.c.d):

end

end

(sa,sb,sc.sd,st]=le pops(st):

function sa=le_pushs(sl.a.b.c.d)

%

{n.ml=size(b): (1, m]=size(d}:

sp=zeros(L,(n+m)*(n+))): ikk1=1:

ifn~=0,
for k1=1:n, ik2=ik1+n-1: sp(ikl:ik2)=alkl,:): ik1=1k2+1; end
for k1=1:n, ik2=ikl+m-1: sp(ik1:ik2)=b(k1,:); ik1=1k2+1: end
for k1=111, ik2=ik1+n-1: sp(ikl:ik2) =c(k1,:); ik1=ik2+1: end

end

for k1=1:1, ik2=ik1+m-1: sp(ik1:ik2)=d(k1,:): ik1=ik2+1: end

sa=(n.m,1,sp;sl):

funetion {a.b,c.d, sa)=le pops(sl)
%
n=s1(1}; m=s1(2); 1=s1(3):
a=zeros(n,n); h=zeros(n,m): c=zeros(l,n); d=zeros(l,m):
ikl=4:
if n==0
a=(): b=[}: ¢=(;
for k1=1:1, ik2=ik1+m-1: d(kl.:)=s1(ik1:k2): ik1=1k2+1: end
else
for k1=1:n, k2=ik1+n-1. a(kl,:)=s1(ik1:ik2): ik1=ik2+1: end
for k1=1:n, ik2=ikl+m1: bkl :)=s1(ikl:ik2}: k1=ik2+1: end
for k1=1:1. ik2=ik1+n-1; ¢(kl,:)=s1(kk1:k2): ikl =ik2+1: end
for k1=111. ik2=ikl+m-1: d(kl.9)=s1(ik1:ik2): ikl =ik2+1: end
end
sa=s!(ik{ end):
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function (hs,hs1,hs2,hs3)=le_s2fr(s1 s)

%

% hs: slls)

% hs1,hs2.hs3 : the first to third constant matrices for series

% expansion of system around s
%

st=(:
bp=(find(s1==-inf), length(s1) +1}:
ns=nargout; if ns==0, ns=1: end
for k1=1:length(bp)-1
ip1=bp(k1): ip2=bp(k1+1}-1:
sp=s1(ipl:ip2):

if sp(2)==1,
n=sp(3): m=sp(4): 1=sp(b): sz=zeros(},m"ns}:
sa=zeros(n.n): sh=zeros(n.m): sc=zeros(,n); sd=zeros(l.m):
ik1=6:
% retrieve a.b.c.d / find value and derivatives
if n==0,
for k2=1:1, k2=ikl +m-1:sd(k2,:)=sp(ik1:ik2): k1=ik2+1: end
sz(:,lim}=sd:
else
for k2=1:n, ik2=ikl+n-1:sa(k2,:)=sp(ik1:ik2); k1=ik2+1: end
for k2=1:n, ik2=1k1+m-1:sb{k2.:)=splik]:ik2}: ik1=ik2+1: end
for k2=111, ik2=ikl+n-1:sc(k2,:)=splik1:ik2): ik1=ik2+1; end
for k2=1'1, ik2=ik1+m-1:sd(k2,:)=sp(ik1:ik2): ik1=ik2+1: end
sa=inv(sa-s’eye(n)); sz{’,1:m) =sd-sc’sa’sh:
for k2=2:ns, sz{* k2'm+1:(k2+1)*m)=-sc’sa"k2"sh: end
end
st=le_push({st.sz):
elseif sp(2)==2,
m=sp(3): [=sp(4): sd=zeros(1,ns): sz=zeros(m,l*ns):
bpl=(5 find(teal (sp)==inf) +1):
% retrieve num,den, th
for k2=1:length(bpl)-1,
sh=sp(bp1(k2):bp1(k2+1}-1):
nsb=length{sb): ni=real{sb{1)}: nj=imag{sb(1)):
num=real(sb(2:nsb-1)): den=imag(sb(2:nsb-1)}: th=imag(sb{nsh)}
% series expansion
(ax,bx cx, dx) =tf2ss(num,den};
if isempty(ax), sd(1)=dx:
else
ax=inv(ax-s"evellength(ax)));
sdil) =dx-ex’ax’dx: for k3=2:ns, sdfk3y=-cx*ax"k3bx end
end
sc=conv(sd, (1, -th, th"2/2, th"3/6]): sc=exp(-th"s)*sc:
for k3=1:ns, sz(ni,nj+(k3-1)*1)=sc(k3); end
end

st=le_push(st sz):

elseif sp(2)==3,
sa=eval(char(sp(3:end))): (m,])=size(sa}; sz=zeros(m.I'ns):
sz(t, 1) =sai
s=s-1.e-6; sa=eval(char(sp(3:end)));
s=s+2.e6: sa=eval(char(sp(3:end)))sa: s=s-1.e-6:
ifns)=2, sz(:,141:2")=sa/(2.¢-6); end
st=le_push(st,sz):

end

% operation
if sp(21)10, (sh.st)=le_pop(st}: (sa,st)=le_pop(st): end

if char(sp(2))=="4", st=le_push(st,sa+sb):
elseif char(sp(2))=="-", st=le_push(st.sa-sb):
elseif char(sp(2))==""

(m,n)=size(sh): (n,])=size(sa): 1=1/ns

H

sz=sh(:,1:n)"sa:
for k2=2:ns, sz(:, (k2-1)"14+1:*ns) =sz(:, (R2-1)"1+1:1"ns) + ...
sh(:, (k2-1)"n+1:k2*n)*sal:, 11" (ns-k2+1)); end
st=le push(st,sz):
elseif char(sp(2))=="n" | char(sp(2))=="p’,
if char(sp(2))=="p’, sh=-sb: end
(m,n)=size(sb): (n,1)=size(sa);

sz=sa(:,1:n)*sh;

for k2=2:ns, sz(:,(k2-1)*n+1:n*ns) =sz(:, (k2-1)*n+1:n"ns) +...

sal", (k2-1)"m+1:k2'm)*sh(:,1:n"(nsk2+1)): end
s2(,I'n)=sz(: 1:n) +eye(n); sc=inv(sz(:,1:n));
sa=sc'sa: sz=s¢"s2;
for k2=2:ns,
for k3=1:nsk2+1
k23=k2+k3-1:
sa(t, (k23-1)*m+1:k23" m)=sa(:, (k23-1)*m+1:k23*m)-. .
sz(: k3*n+1:(k3+1)*n)*sal:, (k2-2) ' m+1: (k2-1)'m);
end
end
st=le_push(st,sa):
end
end
sa=le pop(st): (m,])=size(sa): 1=I/ns;
hs=sal:,1:1): if nargout==1, return, end
hsl=sa(: 14+1:2"): if nargout==2, return, end
hs2=sa(:,2"141:3"]): if nargout==3, return, end
hs3=sa(:,3"1+1:4"1): if nargout==4, return, end

%
function sa=le_push(s1,s2)

%

[m.])=size(s2): s3=zeros(1,m*1):

for k1=1:m, s3(1+(ki-1)*1: k1*D=s2(kl,:): end
sa={m,],s3,s1):

function (sa,sb)=le pop(sl)

Y
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%

m=s1(1): 1=s1(2)

sh=s1(m'1+3:length(s1)):

sa=zeros(m.1}; for k1=1'm, sa(k1.:)=s1(3+(k1-1)":2+k1*): end

function y=le step(hs,nu,t,nw)
% Step responses for t=0:dt tf
%

% y=le_step(sys,nu.t)

% y=le_step(sys,nu.t,nw)

% sys . system

% nu : step input number

t - time (0:dt:tf)

R

% nw : number of frequency responses (power of 2)
default=512
% if negative, a series compensation is applied.

X ®

% y — step responses

R

y(:.nt) is output at the time t(nt).

if nargin==3, nw=512: end
(ny,nnu) =size(le s2fr(hs,1.e6)):

isf=0; al=zeros(ny,1):
if nw(0,
nw=-nw: isf=1:
[h0.h1)=le_s2fr(hs,1.e-6); al=-h1{: .nu)./h0(: nu);

end

dt=t(2)-t(1): tf=t(end): nt=length(t):
nfft=2"pow2(nextpow?(nt-1)): tff=nfft*dt:

% maximum frequency
dw=2"pi/tff: nw=pow2(nextpow2(nw)); if nw(nfft, nw=nfft:, end

w=dw*(0:nw): s=j*w: w(l)=1.e-6:

hswt=zeros{ny.nw+1):
for k1=1:nw+1, hsw=le s2fr(hsj*w(k1)}: hswt(: k1)=hsw(:,nu}: end

y=zeros(ny,nt):
for k1=1'ny
hw=hswt(k1,:):
if isf==1, hw=hw.*(al(k1)*s+1)./(al(k])/10*s+1); end
% size of pulse
hzero=inf:
for nz=1:8
Q=tff/2"nz: z=1-exp(*"wi2:nw+ 1)) Jw(2:nw+1):
ha={0/2 *conj(z))/tf. "hw: hz=abs(real(sum’hq})*2"nz):
if hzerothz,
q=q"2: z=(1-exp("¢"w(2:nw+ 1))} /w(2:nw+1):
hq={a/2 *conj(z}}/tff *hw: nz=nz-1: break:

else, hzero=hz:

end
end
nfold=nw/nfft: hz=hq{l:nfft):
for k=1:nfold-1, hz=hz+hq(k"nfft+1:k*nfft +nfft): end
% pulse response
hq=conj(hz) +fliplr((hz(2:nfft) hz(1))):
hq=fft(hq(1:2:nfft) +hq(2:2:nfft)):
hz=exp(i*2*pi/nfft* (0:nfft/2-1)); iq=2:nfft/2:
hg=(real(hq(1)) ...
real (ha(iq)) +imag(hqliq)).*(1-real (hz(iq)})./imag(hz(ig)) }:
% step response
for k=nz:-1:1,
na=nfft/2'k: hz={zeros(1,na), hg(1:nfft/2-na)): hg=hq+hz: end
hq=(hq ha(nftt/2)]:
ylki, ) =hq(1fix(tf/dt) +1):
ifisf==1, y(kl,:) =lsim((al(k1)/10 1} (at(k1) 1).y(k1.:).t})"; end

end
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